Practice for section 2.3 Synthetic division
. Divide each of these using synthetic division if practical:

(x — 3% +x— 2) (x +1) (x —1) (x-1)
(3x +x—1)+(x+2) (3x° +x-2)+(x-2)

o) ( VSIS CSIE th‘

4 1
AR
- =
~d{x¢+x
yz_r‘% +L.{.
Jakay L&—/L
Rallcal
y 3
b\(XS‘\\ - (x=1) =X +* +>LL~\'>(—’<\
X5
ST
e
- - /K5 \('0\) ca) use “ \{\ i
h ‘c dWis ere
R syatrefic divisen
)\L
x* o~ X
* -\
_ 73\
©
A
C\ 3Xg+ x —\ - (7\1‘2\} = SR AT\

3D Ly *

— W Can USe “
vSle \5% <) '~ divison nele
— GYE _\2% BE e $yotet\C d\V|SoNn
az .—\- -

23\



) 3@rron = D=3 XT3

3N
T?\"X oy Can (‘*Se .
LY = \2% 87WW€ﬂ§»éV”3mr\VENQ
-+ —
(3% -2

o

2. For this function f(x) = x> = 7x+6
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